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(L) 1 59 1 ey 37 550 % £& o|UXE F&o| AFe] st
() : 4% 9By 37 o] of§ oy ® F&a Lpst deol,

(1) A Pp=pgh=1000%9.8 X (4+3) x 10" * =68.6Pa
(L) : 59 P, =pgh=1000%9.8x4x10 * =39.2Pa

(t) : A P, =pgh=1000%9.8x3x10 * =29.4Pa

g=9.8m/s’0| 22 ImmAg=9.8PaS ©] &3l
(1) : A P,=9.8x(4+3)=68.6Pa

(L) @ =9 P,=98x4=39.2Pa

(o) : >§§<§ P, =9.8X3=129.4Pa
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AGEA AHLAF(L=1mT)

~ In(r/m)  1n(0.108/0.100)
2kl 2wx4x1
1

1
2AG T (q)=—At=————(80—15) = 21,214.10W/m
28 @=p 3.064 > 10"

=3.064x10 *(K/W)
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B A EHEAF(L=1mT)

In(r,/m)  1n(0.112/0.100)
= —= = <1
2wkl 2w X3 X1 =6.015>10 (K/W>

LI
R 6.015< 10 °

(80—15) = 10,806.32W/m

G —d _ 21214.10 — 10806.32
A aAEE 7P A Q= = < 100 = 49.06%
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(1) TEREFS IR HELEAH(26-16)02 3t

(2)

(3)

(3)

4, 126,000

— = _1 5 . 4 3
Q yCAt  1.2<1.01(26—16) 0,306.04m’/h
L(])']Z‘]'ioal‘]'?——s]"}_—: 5\_,&3}:‘4, :yo] O]?.(E_B‘]—X—]) %?— Oﬂ%}’}l]i]-i ?—?_]’E]'
& &8 h=82.5x0.3+53x0.7 = 61.85k] /ke

A h
QB35 kW =mAh=1.2x10396.04(61.85 —43.4)
=230,168.33kJ /h = 63.94kW
Y57l 28592 457 s9em IAdFSE AAATE Yol 3ttt
FLF3 63.94

kW = cor . 35 = 18.27kW

2717} = fﬂ1 9]71(82.5)8 F=E+7143. )= Yz sh= Zlof vzt

.

82.5—60.38
H7= = % — .
AHEB)= o5 p g4 < 100=56.57%

AEugtr] dxjo & ofyx A=
g=mAh=1.2x10396.04(82.5 —60.38) = 275,952.49kJ /h
= 76.65kW

——— XA = %leﬁ 4730.4kWh

et&ot7td ol
_8_




2023 A|93] AZEAIABAAL AF | SANE | torosus | AVAL] A=
22 A EREH() 4 W | @&olrbde | 1508
@ o ® L
A1,

11-1) 20|

SEFEE T
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60% F3t& u] HAA|EAO] 3 56KkWOIHE 3.56 =P, +0.6°P, wwweeereeseeens DA
40% H3HEd u HAl7|7F A LGOI HE P =0.42P, e @A
DAle] P @41 thelsict 3'5620'42P(:+0'62P(: ........................................ ®4]
@Al FEP)E 7 = U
P, =6.85[kW]

© WY 2L 3y

P, =1.1[kW]
11-2) 20|
O afid 9 A
ES 500 < 200
s P& F= = = 4264.
A ONM - 067 <50 0.7 1264-39[im]
) F 4264.39
LED S n=-—= =142.1
as 7 P 30 5[lm/W]
O afid 9 A
X2 X
e WA A UL Dlz%ﬂﬁ[w/mz’]
- ~ X
« WA T ZYUE D, = 3020050:7.5[W/m2]

11-3) £0|

~ AMolet Bhe AZE SolA AZ(ES] Al W S4B AR ZIRCH W A
W3- o8 JlE olgh fAbE BAL Sste] AHEHE W Wi, Bus o] JzelAE
7 Ae] obdl Wi B WgEzh Eak AAe] Eheih

71 2
- BE 9 g sy 49 U Bk e st 27e] glong
Adel Gt AS AHEA)
- HiH ) = 098, B =8 x
- i 1S P56 9l dag ARAY 2EEUE(W/m®) & 8ultt 5 7.99W/m?
11-3) Hg

@ :7.28, © : 7.99W/m>
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w=A12,
12-1) £0|
12} ofj U A A AkEF e o33 70 kWh x 2.75 = 192.5 kWh 192.5 kWh
dz (3 200 kWh X 1.1 = 220 kWh
o2 (Pd) 100 kWh x 1.1 = 110 kWh
12} o | A] A&~ 5 1,100 kWh
A (150+45+15) kWh X 2.75 = 577.5 kWh
Bj) k33 70 kWh X 2.75 = 192.5 kWh

12} oy A A 192.5 kWh + 12} oA A8]EF 1,100 kWh X 100(%) = YA AHE 17.5%

12-2) £0|
- ARINASE 555 24 0 1A A A8F 140kWh/m*- & gt / oA AYE 20%
o] Ar
- 2ol 2] A
o (F 3oA] AAMZF 23%, WQZF 1505 = (E 204 45%, Y530 g
« 1xbol U A] AR ¢ 2,829 6KWh/KW - W X (0.4kW X A(SE ] 4) + 1,000m?
— 13y A 4wk @ 193 5kWh/m® - |
- uA AHEE 20%017] §Ie 1A AAreF 193.5Wh/m? - d X 20% = 38.7Wh/m” - ¥
~ 2,829.6 kWh/kW - | x (0.4kW x A(F|@mj4) + 1,000m’ = 38, 7Wh/m” - Aol A A =34, 194
- g a4 350
- 350 w] 1xpef x| AYALEE =2 829 6kWh/KW + 1 X (0.4kW X 35) <+ 1,000m*
=39.61kWh/m’ - d
— 12U A Q% 140kWh/m® - @ w|gho] 7] 918t 1Xbeful 2] AYAkeF = 1935 — 140
= 53 5kWh/m?- &
~ 2,829.6 kWh/kW - & x (0.4 kW x A(#dufl<) + 1,000m” = 53.5Wh/m” - el A] A = 4727w
- g a4 48
— 48 o] 1xpofuf ] AYAFEF = 2,829 6kWh/kW - 1A X (0.4kW X 48) + 1,000m>
=54 33kWh/m’ - W
- ol §f oUA AYE = 54.33kWh/m’ - @ + 193.5kWh/m’ - d x 100% = 28.08%

- A2 A ASE 353 — NUAA-E 60% o
- A9 °1]L1Xl *J)‘ ¥ =B
- 60% = (54.33 + B) + 193.5kWh/m”’ - {d x 100%¢]4 B = 61.77kWh/m’ -
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R

YA - AL A A AL Fad

hY

thXl L OlAXIXIRE | ~10% m|"t

10% o)A~ 15% m]gt

15% O] 4~ 20% T|qk| 20% ©] 4~
hX| 9| MA JHER| 0.7 0.8 0.9 1.0
s A U oAARAA-EE AP Al SHHAT 12} oA AR HiA] o DA 12k 4]
& AAbEhe gt

12-1) Hg
@ 1xpol x| AYAFEE(kWh) = 192.5 kWh
© ANYRAHE%) = 17.5%

12-2) Mg

@ : 48"], © : 28.08%, © : 61.77kWh/m - d
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